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for i=1:L; x=(i-1)/L*(Fmax1-

Fmin1)+Fmin1; Z1(i)=x;

G1 (i, j)=mvnpdf ([x
yl",ml", s1);

G2 (i, j)=mvnpdf ([x
yl',m2',82);

if (Ne==3) G3(i, j)=mvnpdf ([x

y]l",m3",s3); end

end
end
figure( Position’, [010 010 300 2001) ;%
X1
% £

Gmax=max (max (G1(:)), max (G2 (:)));
i f (Nc==3) Gmax=max (Gmax, max (G3(:)));

end

contour (Z1, 72, G1' /Gmax) ;
hold on;

contour (Z1, 72, G2' /Gmax) ;
hold on;

i f (Nc==3) contour (Z1, 72, G3’ /Gmax) ;
hold on; end

colormap (' jet');
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Fmin2=40;
o Fmax2=68;
2 RHBhER - HY
L=50;
for j=2:L; y=(j-1) /L (Fmax2-Fmin2) +Fmin2; Z2(j)=y;

for i=2:L; x=(i-1)/L*(Fmax1-Fmin1)+Fmint; Z1(i)=x;
G1(j, i)=mvnpdf ([x y1',ml", s1);
G2(j, i)=mvnpdf ([x y]',m2", s2);
G3(j, i)=mvnpdf ([x y]',m3",s3);
end
end

figure('Position’, [010 010 300 2001);

contour (Z1, 72, G1) ; hold on;
contour (Z1,72,G2) ; hold on;
contour (21,72, G3) ; hold on;

axis ([Fmin1, Fmax1, Fmin2, Fmax2]) ;
colormap (' jet');

plot(d1(:,1),d1(:,2), ob"); hold on;
plot(d2(:,1),d2(:,2), #m"); hold on;
plot(d3(:,1),d3(:,2), xr"); hold on;
axis ([Fmin1, Fmax1, Fmin2, Fmax2]) ;

Y Y N\T / ERFE R
figure('Position, [010 210 300 2001) ;
for j=1:L; y=(j=1) /Lx (Fmax2-Fmin2) +Fmin2; Z2(j)=y;

for i=1:L; x=(i-1)/L*(Fmax1-Fmin1)+Fmin1; Z1(i)=x;
if( @), )>62(], 1)) & @1(J, )>63(, 1)) )
plot(x,y, +g'); hold on; end
if( (@2(]), )>G1(j, 1)) && (@2(], )>G3(j, 1)) )
plot(x,y, +y'); hold on; end
if( (@3(), )>G1(j, 1)) && (@3(], 1)>G2(j, 1)) )
plot(x,y, +c¢'): hold on; end
end
end
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for i=1:L; x=(i-1)/L*(Fmax1-
Fmin1)+Fmin1; Z1(i)=x;
G1 (i, j)=mvnpdf ([x
yl',ml", sgml);
G2 (i, j)=mvnpdf ([x
yl',m2', sgm2);
end
end

figure( Position, [10 10 300 3001);

contour (Z1,72,G1") ; hold on;
contour (Z1,72,G2’) ; hold on;
colormap (' jet');
for j=1:L

for i=1:L

if(G1(i, j)>62(i, j)) G3(i, j)=1;
else G3(i, j)=0; end
end
end
G3=G3*xmax (max (G1 (:)),max (G2 (:)));
contour (Z1,72,G3", 'LineWidth', 2);
axis ([Fmin1, Fmax1, Fmin2, Fmax2]) ;

figure( Position’, [10 310 300 300]) ;
contonr (71 792 G1°) - hald on:
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a I
ap +a,q + ag

+a-p2+ a.a? + a TN /E R R
Wl TSP kB BRI

\_ 2R HHF 2,k 5K Y,

a,p + azq + ay A

TRFN AT R

N1 F

ETRDIEFRIR

2022/4/16



2022/4/16

B o B
a I 1 -7 571 (x-%)

S 2
a1p + aq + aoy |S|(2m)?
+asp?+ asq® + aspq BMx B xDED
=0 TINS/ERFEEE

\ 2k = J

ap+ a.p + axq

ap+a,qg+a
1P :20q 0 \/m

a—41)yEagk

x=P|, 2=P|, s=[" 2| sgze.
q q

S21 S22
H L, S21 = S12

Q-
a
Qo
x-0's@x-m=[P 9 1 p* ¢ palf,,
1R € 2R > |q,
ZCT. 5.
[A1] [ 2(512q — S22D)
a 2(512P — $119)
Qo _ 1 S220° + $114% — 251297
as $11522~512° S22
Qg S11
[ A5 | | —2515




2022/4/16

FIAI 73 H7 T

BHHETRDITS

BRRZFIR & ?
TINT/ERIREE

R H B D F E
INT/EREBEDETE X
FRRH ST (PCA) LD G

LAl Pl BN o

FIEDO T—2=XFTRR

KIEFD EEL RO

2 W A 2 N A

1 91 545 1 23 3.8

2 10.4  68.0 2 0.7 145
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4 1.5 476 4 1.1 334

5 9.7 525 5 3.9 6.2

6 4.9 453 6 1.0 12.3
x”'=[91 5457 P =[23 318] TiEE
xV =[10.4 68.0] xP =107 145]

xV =149 4537 P =110 1237




FIEQ H5RBOFLY

x*) =[8.30 53.57] x?) =[1.92 31.08]
-
N

1
x5 = — () = =
x NG E x; ',  D3Rk=12

. 2
P —x®W=[08 093] xP-xD=[03 o0rn2]
210 14.43 1.22 -16.58
~0.10 -0.07 : 0.58  2.22
-0.80 -5.97 082 23
1.40 -1.07 1.98 30 12
3,40 -8.27 ~0.92 -18.78

"LE@ /\ﬂ:&/ \ﬁ glj

0.80 0.93 )7 0.38 072|T
2.10 14.43 -1.22 -16.58
-0.10 -0.07 0.58 2.22
1) _5(1) — 2) _x(2) —
x® —xM® = -0.80 -5.97 x® —x® = -0.82  2.32
o 1.40 -1.07 , 1.98  30.12
ND =6 -3.40 -8.27 N® =6 -0.92 -18.78
st — 1 - (x(k>_,—c(k))(x(k)_7(k))T, k=12
R B

s —| 3.84 12.49 s@ —| 1.48 19.36
12.49 62.85 19.36 309.13
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MATLAB D mDF—4
clear all; close all;
d1=[9.1000 54.5000;% K{RFED 2
10. 4000 68.0000;
8.2000 53.5000;
7.5000 47.6000;
9.7000 52.5000;
4.9000 45.3000];
d2=[2.3000 31.8000;% f#&EE7 0
0.7000 14.5000;
2.5000  33.3000;
1.1000  33.4000;
3.9000 61.2000;
1.0000 12.3000];
MM=length(d1 (1, :)):% EBIEDiELE
Ni=length(d1 (:, 1)):% 2 S A1DT—42 %
N2=length(d2(:, 1)) ;% 2 S A2 T—4
NN=N1+N2;
MATLAB @ F—42DEIHR

mi=mean(d1) % FH T k)L (V55X 1)
m2=mean (d2) % FH T L)L (V55X 2)

x1=d1-m1
x2=d2-m2

% FREITH (V53X 1)
% FREITH (V53X 2)

ST1=x1"#x1/ (N1-1) % 2EHZEATI (V53X 1)
S2=x2"#x2/ (N2-1) % SEFHZEATH (V53R 2)

mm= (N1xm1+N2xm2) / (N1+N2) ;
Sb= (N1 (mm-m1) " * (mm-m1) +N2* (mm-m2) ' * (mm-m2) ) /NN; % 4 5 R[5 EL
Sw=((N1-1) *S1+(N2-1) *S2) / (NN-2) ; % 75 ARARER

[V,D]l=eig(Sb, Sw) % [EHfERIRE

A()=V(,
B(:)=V(,

M) % REART RIL
M-1): % REAT FL2

AO=— (m1*A’ +m2%A’ ) /2; % F= 1
BO=— (m1*B’ +m2%B’ ) /2; % H = 2
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MATLAB

£T

ELI

LDA: &Y
ERIE: HY
TMRAE - HY
2RENHR 2L

[V.Dl=eig(Sh, Sw); % EH{EMRE

AC)=V(E M ; BGY=V G, MM-1)
A=[-(m1*A’ +m2xA’ ) /2 A];
B=[-(m1*B" +m2xB’ ) /2 B];

figure( Position’, [10 10 300 2001); %
KR - B E AR
plot(d1(:,1),d1(:,2), or'); hold on;
plot(d2(:,1),d2(:,2), *b"); hold on;
xx=| inspace (Fmin1, Fmax1, 32) ;
yy=(-A(2) #xx-A (1)) /A (3) ;

plot (xx,yy, r—").

yy=(-B(2) *xx-B(1)) /B(3) ; hold on;
plot (xx,yy, 'b—"):
axis([Fmin1, Fmax1, Fmin2, Fmax2]) ;

R pallf:

C=(inv(Sw)*(m1’ -m2'))";

C=[-(m1*C" +m2xC’ ) /2 C]; % 3L DLLIE
ALELC

Yy BT - 2 REFIOHR
EEER
1=300:
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o I 91 55 1 23 38
% <] 2104 680 2 07 145
ﬁ'%‘m 382 85 § 25 33
H 475 46 4 11 R4
% 597 85 5 39 612
6 49 43 6 10 123
“emA- kEE
R 21— R Bk
ol > B1b
<> o MboFETDIER /NS /E R R
<> [Fo ML 0ETOIER > RIC

B
— P p—

FIEDO T—2EXFTKRE
B2 B TR B2 B TR
1 9.1 545 1 2.3 31.8
2 10.4 680 2 0.7 145
3 82 535 3 25 333
4 1.5 416 4 1.1 334
5 9.7 525 5 39 6.2
6 49 453 6 1.0 12.3

Y
V=191 5457 =123 3187
x(Y =[104 68.07 xP =[07 1457

TIXERE

xD =149 4537 P =110 1237




i)

FIEQ H5RBOFLY

x* =[8.30 53.57] x? =[1.92 31.08]
-
N

1
x5 = — () = =
x NG E x; ',  D3Rk=12

. 2
P —x®=[08 093] xP-xD=[03 o0n2]
210 14.43 1.22 -16.58
~0.10 -0.07 : 0.58  2.22
-0.80 -5.97 082 23
1.40 -1.07 1.98 3012
3,40 -8.27 ~0.92 -18.78

Big
Z\ i VAN
"LE@ &/ ] H glj
0.80 0.93 )7 0.38 072|T
2.10 14.43 -1.22 -16.58
_ -0.10 -0.07 _ 0.58 2.22
x® —xM® = -0.80 -5.97 x® —x® = -0.82  2.32
) 1.40 -1.07 1.98  30.12
N® =6 3.40 -8.27 N® =¢ 0.92 -18.78
.
1
st — — (x® — ®0)(x®0 %) | =12
R B
.

s —| 3.84 12.49 s@ —| 1.48 19.36
12.49 62.85 19.36 309.13

|
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FIE@® </NT/ERXFEE

x & XN QEROBEERIE
D(Zk) (x) = (x — f(k))T(S(k))_l(x . f(k))

k=1,2
o

(p,q) & (B, BTRE) DT—2&E9F5HE

3.84 12.49]‘1 [p —8.30

2 =[p—830 g-—53.57
DGy =1p a 1249 6285 lg—-5357
1.48  19.36 ]‘1 [p —1.92

2 () =[p—192 q—31.08 [
Diy(x) =1Ip q I1936 300.13] lg—31.08

=1 /& =+
STEDHER
< /NS /) ERIER
B2 B IR Dy Dy
S 1 9.1 545 0.29 123.20
X 2 104 68.0 3.75 145,91
g3 82 855 [> 0.01  90.09
4 15 416 0.68 77.77
o R KEE 25 07 5.5 1.92 155, 68
Prar™ A "2 6 4.9 453 3.35  16.93
i o
1 2.3 31.8 9.60 0.43
N . M9 07 145 24.30 1.0
Dy:@MoMDIERE 5§ 3 25 333 » 8.84 0.75
_ - - B 4 1.1 33.4 13.95  3.45
Dy @MOMDERRE = 5 39 619 26.63  2.97
6 1.0 12.3 27.69  1.39

| KINTHBIT B
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N~ VA > -
DIV ETIERZRDS
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A NEFZ[-1.90 ||-0.36 K * .
Ho 5 w%— [-2.79 ||-0.20 B oo,
E. hETY |-0.42 0.27 o -
"
-2 »
B. v 0.62 ] 1.11
C. ILx7 1.52 [|-1.92
D. #7717zl 0.92 0.50 &
F.o/S)Lx7 1.58 || 0.34 Y
G. AJLA%)L| 0.46 0.26 4(-\|H
1 ) "
F1ERD F2EFHS
s\lr 3 / \
HIRIERE 73
T IL—71 FI—72 ~
NEFR B Fyxsy LS 1E/RESD (p)
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